I ef inﬂatlen which, as everyone

i knows, hits the poor the hardest of

Dz H-«-'ﬂ Read the fei—

| ..Eewing pas&age carefully and answer .

the questions given below it. Cer- |
tain words/phrases have been print- | built on the these is that people can-
ed in bold to help you locate them |

_while anewenng seme ef the quee— 1

fions.

| Gevemmems Ieekmg fer eeey 1
popularity have frequently been |
1 sis has been applied not just in the
_poor countries but in the rich ones
_as well; hence the birth of the wel-
fare state in the west,

tempted into announcing give-a-
- ways of all sorts; free electricity, vir-
tually free water, eubsidized food,
cloth at half price, am:i S0 en ’Fhe‘ 5
~ subsidy culture has gone to ex- |

~ tremes. The neheet farmers in the

country get eubeidmed fertilizers.
University education, typicaliy ec-,
cessed by the wealthier sections, is

~ charged at a fraction of cost. Postal

services are eubezdazed and so are |
es the desire among people to pay

| raﬂway services. Bus fa.ree emnet-
. be rmeed to eeenenueal levele be- |
~cause there will be violent protest, --’;ﬂf the incentives to work, in short,
80 bus travel is eubeidized too. In

. the past, price eentrei en e venety |

. ef items, from steel to eement

_meant that industrial consumer of
~ these items got them at less than
_actual cost, while the losses ef the |

public sector Cﬂmpﬂﬂlﬁﬁ that pro- ..'-pEI‘lEﬂCE over eeveraj deeedes and

~ duced them were borne by the tax-a_-: in many Cﬂunmes do not seem to

. Payftﬂ A etudy done a few year S ago, Z-have been learnt. Or they are sim-

_ came to the eeneluezen that subsi- ly 1gnered in the pursu;t of imme-

dles in the Imhen eeenemy total as diate votes. peaple who are prom-

 much as 14.5 per cent of gross do- _.-"'.ieed cheap food or clothing do not

~ mestic product. At todey’e level, that in most cases look beyend the gift

~ would work eut 9 abeut. Be: horses-to the question of who picks
_ | up the tab. The uproar over higher

| petrol, diesel and cooking gas pric- |

! 00, 000 crore.

~ And who pey the bill? ’I‘he thew ;'
3'ery—~and the pohtleal fiction on the
_ basis of which it is sold to unsus-

_ pecting voters-is that subsidies go
_ the poor, and are paid for by the rich.
_ The fact is that most subsidies go

 the 'rich’ {defined in the Indian con-

text as those who are above the pov-

 erty line), and much of the tab goes |
_ indirectly to the poor. Because the
_ befty subsidy bill results in fiscal
. '-deﬂeits whmh in turn push up rates |

ali That is why taxanen call inflation

_the most regressive form of taxation.

The entire subsidy system is

niot help themselves, therefore gov-

| :'emments must do so. That people
| cannot afford to pay for variety of
goods and services, and therefore the

government must step in. This the-

and an ai-

most Uteplan social security sys-
tem; free medical care, food aid, old
_age security, etc, But with the pas-
sage of time, most of the wealthy
‘nations have discovered that their
economies cannot sustain this so-
-cial safety net, which in fact reduc-

their own way, and takes away some

the bill was unafferdeb}e and their

- societies were simply not willing to

pay To the regret of many, but be-
cause ef the laws of economies are

harsh, most Western societies have
' been busy pruning the welfare bill.

In Indla the ieeeene of this £X-

es ignored this basic question; ifthe | |
user of cooking gas does not want ':-f_j'.jl'-_}-'::"_{5} All of the above options
to pay for its cost, whoshouldpay? |
| Diesel in the eeuntry is subsidised, |
and if the user of cooking gas does |
not want to pay for its full cost, who |
does he or she think should pay the |
balance of the cost? It is a simple |
-f'queetien, nevertheless 1t remame

| uneeked

The Deva Gowda governmernt
had shown some courage in biting
the bullet when it comes to the price
of petroleum products. But it has
been bitten by much bigger subsidy
bug. It wants to offer food at haif
its cost to evervone below the pov-
erty line, supposedly estimated at
some 380 million people. What will
be the cost? And of course, who will
pick up the tab? The Andhara
Pradesh Government has been
bankrupted by selling rice as Rs. 2
per Kg. Should the Central Govern-
ment be bankrupted too, before fac-
ing up to the guestion of what 1s
affordable and what is not? Already,
india is perennially short of power
because the subsidy on electricity
has bankruptied most electricity
boards, and made private invesi-
ment wary unless it gets all man-
ner of state guarantees. Delhi's sub-
sidised bus fares have bankrupted
the Delhi Transport Corporation.
whose buses have slowly disap-
peared from the capital's streets. It
is easy o be soft and sentimental,
by looking at programmes that will
be popular, After all, who does’ not
like a free lunch? But the evidence
is surely mounting that the lunch
isn’t free at all. Somebody is paying
the bill. And if you want to know
who, take at the countrv’s poor eco-
nomic performance over the years.
- 1. Which of the following should

not be subsidised over the years?
{1} University education
{2} Postal E}Eﬂ’ICES

 {3] Steel

{4] Other than theee given as
epuene

2. The statement that ‘subsidies
- are pazd bx Lhe ﬁCh and go 1o

the poor’ 15 o

-"=__={1) fiction [2} faet

-' .'-'__.-.{3} fact, eeeertimg te the au-
e ther
i {4} fiction, eecerdmg to the
e :::: - authef




55) Omﬂr thm mm gwm'n as
upﬁﬁns' 

3. Why do you think mm theau- |
- thor calls the Wetsern sm:iaﬁ- 5

security 5yatem Utoplan?

(1) The countries belief in thﬂ
_efficacy of the system was |
o bowund te turn ol o ht“"

- {3) Deva Gowda's Government

false.

. m The sy'stﬁm Eﬁiﬁﬁwed by |
these. countries is the best |
available in the pmsam.j |

context.

(3} Everything umﬂﬁr tms 5ys—-
~tem was supposed to be
free but people were charg-
ing money for them.

(4) The theory of system fol-
lowed by these countries

- was devised by Dr. Utopia.

{3) All the options are resmn~
sible.

4. It can be inferred from thﬂ pas-

sage that the author

- (1) believes that people can
help themselves and do not
need the government.

(2) believes that the theory of
helping with subsidy is very
destructive.

ES) believes in democracy and
free speech.

~ {4) is not a successful pmm-

cian. |

" (5) believes that subsidies are

~ the best way to help poor.

5. Which of the following is not
 avictim of extreme 5ubaﬁdi@s‘?

(1) The poor

EQ} The Delhi-’l‘mnﬁp@rt Cm'-_

p@mﬁ{m
(3) The Mdhm Pmdesh Gmr-;
mmﬁnt
Mj other than ﬂ'mse given as
r @pﬁﬁna W N
- [5) Therich

% ‘Which of the fﬁlltmrmg 15 nm -

true in the mm;m @f the pas—
 sage? -

{1) Where subsid&es are con-
cemed the pmr ultimate-_-: u

ly pay the tab.

(2) Inflation is caused by tm I

. much subsidies.
(3) Expcrts call subsidies the
- most regresslvc f-mn Gf tax——-
ation. -
14} Fiscal deﬁcits are caused
due m hcavy subsidy bﬁia

®

&5} N{me of the following 18

true in the context of
passage.

(1) There's no such thing as d

 freelunch
{3] The Feor mmt( Ove rvu.i W

- and its Follies
 (4) It takes Two to Tango
"-3.-(5E The Rich and The Poor:
. Extreme Partiality
Directions  {8-12): Rearr ange
me &‘@ﬁﬁwrmg Six sentences (A), (B).
(C), (D), (E) and (F) in the propet
sequence to form a meaningful para-
graph and then answer the ques-
tions given below.
EM it is the only country in ‘ﬁ:hﬂ
world that is carborn negative,
which means it produces more
oxygen than it consumes.
Bhutan, sandwiched between
‘the two most populous na-
tions on Earth, suffers for
their sins. L
So far, so good. But then, two
things happened = &
Carbon sinks, 70% forest
cover, powered almost entirely
by mountain streams—
‘Bhutan is a pus‘m“ child for
green living.
Glaciers are bﬁgmnmg to
melt, flash ﬂmds and heavy
rains-—and even dmught&—-
~ are common, and tempem,
tures are dimbing

(B)

(C)

(D)

(E)

i e
- 8. wmm @E‘ the foﬂa}wﬁng s}muid

 be the First senternce of the"

given Pamgmph‘? cina
{1} B 0] m
@c @B

- {5) A |

| Q Which @f the fuﬂmﬂng shaulci.'
~ be the Third Semence of the

given paragraph‘?

(1) A - 2) B

.3 C {4)

BE

10 ‘Which of ‘i‘hc fﬁllowin
~ be the LAST Sentence of the

_ Biven Pﬂl"’ agraph?
A 2lD
Bc 14) B
(5) E .

the |

? A suitable title to the passage |
| would be:

One, Endﬁa and Chma gm k

of E}Eﬂple

i "wer}'thmg from neumsurgery to

. _launﬂry Each patient ~ that is to
Say, each “job”

| ent set of people with a different
g should_

11. Which of the f{}ll{)Wng shoy, d
be the Fourth sentence of th,

given paragraph?

(1) F (2) C
(3) B (4] E
(5) D

12. Which of the fallgmng ghﬁu] g

be the Secanid 5¢ mww 0[ the
givera paragraph? '

(1) B (2) D

3) A (4) C

(5) E

Directions (13-20): In the fg

lowing passage, you have a brief pae.
sage. In the following passage, some
of the words have been left oyt

First read the passage over and try

| to understand what it is about. Thep
fill in the blanks with the help qf

the alternatives giver.

Big ideas come from tackling
(13) problems. When one is con-
fronted with an overwhelming task,
it's pieces. Business jargon is full
of phrases -about that, like “pilot
projects” and “low-hanging fruit.”
They have their place, but in the
repertory of management (14), they
should share their place with boid
approaches to big challenges. Much
of today’s most valuable manage-
ment knowledge came from wres-
tling with such issues. The most
complicated workplace in the middle
of the last century was the auto-
mobile assembly plant, Drawn toits

complexity where Peter F. Drucker,
W. Edwards Demmg and Taiichi
R ._.th} among others. The work they
and their disciples did, applied in
[industry after industry, is the basis
_of the best that we know about op-
_erations, , Managing people, innova-

-~ | Hon, ﬁrgamzatwnal design, and
'. .--muth mm@ |

The mﬁst mmpiﬁx warkplaces

:.am lertiary care h@spatais These
vast (15)

2) employ tens of thousands
who, under one roof, do

calls on a differ-

constellation of (16); even when the
tWo patients have the same diagno-

- '_Sis Success may be (17) differenﬂ}’

is is camplmty of an order of

| magmm{ie grﬁater than &utomﬂbﬂe




= [2}. _.talﬁm
(4} unskﬂleﬂ

@) '@fﬁcms
(4] measured

(2} whom
{3} whose (4] which
(5) whomsoever  + o

20. (1) profoundly (2} gra.duaﬁy
(3) superficially
(4) speciously (5] earnest

there is no error, choose option (5).
231. {1} The need to set up
(2) a good library in the local-

{21 ha,ve being__ _! |

Directions (21-30) : Identify the |
error in the sentences given below, if |

[3) has been in the minds of

. people
(4) for some time now
[5] No error

) i 23 (1) Most people would have

(2) attended the union meet-
" ing

{3] if they had
{4} had longer notice of it.

(5) N{} error

(2} readmg Times

[3] for better knowledge
{4) of the facts.

(B) No error

24 (1} When children have diffi-

culty understanding
(2) a certain mathematical
process, it is often because
(3) their teachers do not un-
derstand it conceptually

(4) themselves and do not

present it in a way that
children can understand.

(5] No error.

, 25 (1) Studies show that the

lives of millions of moth-
ers

(2) and their children could be
saved if countries would

(3) invest in programs that en- |

sures a healthy pregnancy,
{4) and safe childbirth.
(5} No error.

26.

27.

28,

29,

{1) Film viewers claim that

(2} the number of scenes de-

picting alcohol consump-
 tion

(3) have increased dramati-
cally over

(4) the last decade.

(5) no error

(1) Forty percent of the people
alive {oday have

(2) never made a phone call,
but

(3) thirty percent still have no
electricity connections

(4} to their homes,

(5] no error

(1) Workers with less

{2) personal problems arc

(3) likely to be

(5) more productive in their
work.

(5) no error.

(1} Everyone
Singapore

who visits

(2) is impressed by its cleanli-

ness,
(3) which is mainly a result of
rigorous implementation
(4) of their strict laws.
(5) No error '

. (1) The bridal dress was

(2) most unique: the prince

{3) designed it and his

(4) mother provided the lace
fabric.

{5} No érror

ity

- State

Below poverty Eiﬂe

MG F

5
9
1
3

B

:. 3L If the malc pﬁpulatmn above
- poverty line for State R is 1.9

. million, then what is the total |

Fipulation of State R?
(1) 45 rmlliﬂn [2]4 85 mﬂliﬂﬂ
(8) 5.35 million
(4] 6 25 nﬁ}liﬂn

(3) 1.33 million

32. What will be the num‘her of fe-
males above poverty line in the |

State S if it is known that the
population of State S is 7 mil-

lion? |
(1) 3 million
(2) 2.13 million

33.

(4) 5.7 million
(5) 4 million 1
What is the male population

above poverty line for State P
_if the female population below

poverty line for State P is 2.1
million?




37,

e

(2) 2, ’?"'mi hﬂn' . | g
0% E:ach fDI‘ two }'eaI'S 1f the | _
_ total sum invested by A and B |
- is Rs. 4000 and the szmplﬁ in- i
' terest received by both is same |
-~ then, find the amaunt invest- | |
- 42.

{5] 3 r‘mlliﬂn

. If the pﬂpulauﬂn {}f male's be-
low poverty line for State Qis |
2.4 million and that fEII' State |
T is & million, then what is the |

respective ratio of the ‘total

population Gf States Q and T ‘? _

(11'1: 3
(31 3:7
5 3:9

(2]25
(4) 4:9

. In state R female population

above poverty line is by what

per cent more than that beiﬂw
pﬁverty hne ?

{1} 1
(3) 105
(51 125

(21 @5 "
(4] 1680

. Find the probability that a

number from 1 to 300 is dms-
ible by either 3 or 77 |
37 32

0 7D

36 28

75 75

26

75

14 men can do a work in 18
days. 15 women can do the
same work in 24 days. If 14
men work for first three days
and 10 women work atter that

for three days, find the part of
work left after that?

3 !

(1) (2]

(3] (4}

15)

| 1
i = rﬂﬁp@cm’ﬂy What was the ~ equal and the total income of
.rﬂspecuve ratio ﬂf thmr Expﬂn-"f .

{2} 21
{3} 23 | (4}

(5) 7

o 3@ A inveated in a certain schemﬂ '_

. at the rate of 5% p.a. and Bat |

' The speed of the faster train is |
by what per cent more than |

| %5':

edbyA?

(1) Rs. 1300 (2} Rs 1500
{3) Rs. 2500 {4] Rs 27(}0
(5} Rs. 2100

. Two trmns cross each {}ther in

14 seconds when they are 1mov-

ing in Dppﬂazte d1rﬂctmns and |
when they are moving in the |

same direction they cross each
other in 38 minutes 2 seconds.

- the speed of the slower train?

(1} 16.67%
(3} 16.33%

{2} -17.33%
(4) 17.67%

- {5)1833%

mmati@ﬂﬁ E‘% 1*45] What will

c{jﬁ'ae in place of the questiun mark
{Ain the fﬂllﬂ%ﬁng numbﬁr S?nes'}‘

'-M

| %3,,u

1) 134
3) 132
A dBh A

 (5) 3268
19019 35 59

T2 154

@ 15

,(%l158

(2] 127
[LL] 98

tions that fﬂlli}w

Mmpy %

¢ T _.ditures in 2010?
. Thﬂ penrneter ﬂf a r&ct&ngle is -
" x units and the circumference |
ofa circleis 8 units morethan |

- the perimeter of the rectangle. e (5) 35:49

The ratio of radius of circle and | 47,
Iﬂngth of the rectangle s il
and the ratio of length and |
L hreadth of rectangle is 7:3. Fmd o

_the iength nf the rectangle‘?

(1) 14

50722
(3) 15: 22

| mrmﬂﬂma [%&-5@} Study the f ﬂliﬂwin g table and answer the ques~

. Per cent pmﬁt eafﬂed hy twa cmnpamea

70

30 —

Profit (in %)

10 F

12006 | 2007

3008 | :

2009 ErnEa
"5 [ 65

M Thf: mcmmes nf campany X_ a.nci

{2) 14 19
{4) 2? 35

I the expendlture mf cumpany'* .
Y in 2007 was Rs. 220 crores, |

%ﬁ

If the expenditures c}f cnmpa-

_::;:;:-;:nies X and Y in 2006 were

n- -'.;:-;s::.thﬂ buth cumpames in 2(}08
| . was Rs. 342 crores, what was
2__-..{.:_“~the total pmﬁt of two _compa-
1 mes tﬂgether in 2006‘? {Prﬂﬁt-

= Income - Expﬂndaturﬂ)

"':f'_'{l) RS 240 crores
;;.j_'.-.:--what was its income in 2{}(}?‘? i
- (1} Rs, 312 cfovee (|} o
~ (2) Rs.297 crores . 5 .
L (3} Rs. 2 5 croree :1:_:?-;_. 49 B Rs. 150 crores

- | @ EBRs 205etares. |

. (5} RS 25@ CI'GI'ES-_. . . '_"CI"GI“ES al'ld thf: income of Cﬂm'

1?1 {:rﬂrﬂs

. _(3} B 190ciic.
4 Rs

. 102 Crores |

_--.-.The expenditure nf cam aﬂ}" X
in the year 2008 was Rs, 200



_; A 82 years older than B while
B is 3 years younger than C.

‘The ratio of age of A, 6 years

ago-i5'5:3. What was the age

S R

im 15 years
i {5} 21 years

(2} 19years
4] 14 years

e | A, B and C started a business

: '{H'?@ ﬁ'"'

ma &
{3) _;______ﬁf _m 1615

s I f:ach

s}f ﬁ‘iﬁse quwtims, twa equations |

{} and (I} are given. You have to

solve mm tht eqaai:inns ami give |

answer |
T {Mifx>y - @ ifx2y
@ifxcy @ ifxsy

B)if x=y or relationship be-
twcm X and y cannot be estab-
ﬁL I 3x’z 29x+7=0
| Ly - 15@; +56=0
52, 1.2~ 17x+36=0

L ﬁyz 19y +44 =0

ﬁﬁ Lx- .,hﬁg O

| iﬁi y2 169 = 0
54. 1. 3x3+2{3x+25 ¢
1. 32+ 14y +8=0
.32 +5x+2=0
.32+ 18y+24=0
B6. A seller marks the price of an
'__ itﬁm 50% above the cost price
" and gives 10% discount on the
" jtern. While selling he cheats a
* “eastomer by giving 20% less in

Bo.

weight. Find his overall profit |

per cent {appmmtﬁly}?
(1} 26% (2} 65%
.. i3 B9 (4) 72%
; {5} m
ﬁ?-ﬁ

i a ﬁﬁnmnﬂf One-third of
- replaced wwmm Lo

am@um ﬁf wawr is ad{ied

ai: s the I‘&ﬁﬂ of . m ik o

m 1: 2 (23 1:1
3 2:1., 44 5

ey mfnﬁ.n n‘f th oo

There 48 8“%3‘65 of pure milk ‘

;-\.

2

1 thelr investments in the

""'-5“'_'5"3'3123{3 1:2: 4. After 8 months

A invested the half amount
more as before and B invested

the same amount as belore

while C withdrew one-fourth
of his investment. Find the
ratio of their profits at the end
of the year. '

{1)5:12:13(2)5:11:14

(3} 5:12:14{4) 5:12: 10

“{B] None of these
. The average marks in Smﬂnm

subject of a class of 20 stu-
dents is 68, If the marks of two
stiidenis were misread as 48 and
65 instead of the actual marks
72 and 61 respectively, what

wotild be the correct average?
{1) 68.5 {(2) 69
{3} 69.5 {4) 70

(5] €6 '

Directions (61-68) : What

should come in the place of ques-
tion mark (?) in the given questions?

B1.

82.

4.

40% of 265 + 35% of 180 = 50%
of 2+ ?% of 80

(1) 80 (2) 95.5
(3) 130 (4) 125.5
(5) 115
Jossxolg of 167 =7
(1) 20.43 (2) 30.76
(3} 30.91 {4) 30.20
(5] 31.4 -
J? +416 =(60% of 920) - 110
(1) 576 (2) 676
(3) 784 {4) 1024
(5) 900 |
{682% of 782) + 856=7
(1) 4.50 (2) 10.65
 {3) 235 {4} 375
B8

.: Eﬁ;

15.5% of 850 + 24.8% of 650
=7

{1) 293 @) 3%
(3) 270 - (4) 375
(5) 220 e

Drections [88-70) : In (hese
questions, relationsiip between dil-
ferent elementis is shown in ihe
statements. The statements are [ol-
lowed by two conclusions numbered
i and II. Study the conclusions
based on the given statements and
select the appropriate answer.

(hive answer (1)1 ﬂnly Conclu-
sion il is truc

. Give answer (2) il only Conclu-
sion I is {rue :

Give answer (3) if both Con-
clusions 1 and il are true.

Give answer (4) il either Con-
clusion I or 1l is true

Give answer {8) if neither Con-
clusion I nor 1l is true,.
(B6-B87) :
Statements:

S{L«:E_P}E}R L::-Q
66. Conclusions :

L. P>5S

H.I>R
§7. Conclusions ;

L L<R

%mtmﬁwﬁm
G>R<cE=A<T<5; ﬁ{AﬁJ

68. Conclusions ;
. T>0D

HLR>S
Conclugions :
.Jd>R
.J=R
Statements :
A>B>C<D<cEcFE
Conclusions :
LAZE
IICﬁF
Divections (7 1-78) : Study the

fﬂlinwing information carefully and
answer the questions given below :

Eight persons — A, B, C, D, W,
X, Y and Z — are sitling around a
circular table facing the centre at
equal distance from each other, but
not necessarily in the same order.
Each of them belongs to different
areas viz, Dwarka, Karol Bagh, Okh-
la, Chanakyapuri, Mehrauli, Rohi-
ni, Lajpat Nagar and Saket, but not

B89.

70.

| necessarily in the same order.



W is sitting third to the left of

Y. The person who is from Dwarka
is to the immediate right of W and
W is not from Okhla. B is sitting
fourth to the right of Z. Z is not the
immediate neighbour of Y. Neither
B nor Z is an immediate neighbour
of W. X is from Chanakyapuri and
18 sitting third to the right of the
person from Dwarka. The person
from Mehrauli is sitting second to
the left of person from Chanakyapu-
ri. The person from Rohini is sit-
ling second to the left of W. A who
is from Lajpat Nagar is sitting ex-
actly between X and Z. The person
from Saket is sitting second to the
right of the person from Lajpat Na-
gar. C is sitting third to the left of X,

71. Who amongst the following

persons belongs to Okhla?

1} D (2} Y
3) C (4] B
8) Z
72. What is A's position with re-
spect to B?

(1) Third to the right

(2) Second to the right

(3} Third to the left

(4} Second to the left

(5} Fourth to the right

How many people are sitting
between Z and C when count-
ed in an anticlockwise direc-
tion from C ?

73.

(1) Cne (2} Two
(3) Three (4) Four
(5) None

74. Four of the following five pairs
are alike in a certain way based
on their positions in the above
arrangement and so form a
group. Which of the following
does not belong to the group?
(1} B-Rohini (2) Z- Mehrauli
(3) D — Okhla (4} Y - Saket
(5} X - Dwarka

Which of the following state-

ments is false according to the

above mentioned arrange-
ment?

(1) Cis to the immediate right
of the person from Karol
Bagh

(2) The person from Lajpat
Nagar is third to right of
the person from Mehrauli.

(3) The person from Dwarka is
sitling exactly between the
persons from Karol Bagh
and Saket.

75.

(4) D is neither from Cha-
nakyapuri nor from Karol
Bagh. .

(5} There are only three peo-

' ple between A and C.
Directions (76-80) : In each
question below are given two/three
statements followed by two conclu-
sions numbered I and II. You have
to take the given statements to be
true even if they seem to be at varl-
ance with commonly known facts.

Read all the conclusions and then

decide which of the given conclu-

sions logically follows from the given
statements, disregarding commonly
known facts.

Give answer (1) if only Conclu-
sion | {ollows,

Give answer (2) if only Conclu-
sion I follows.

Give answer (3) if either Con-
clusion I or I follows.

Give answer {4) if neither Con-
clusion I nor 1I follows.

Give answer (6} if both Con-

r

clusions I and II {ollow.
(76-77) :
Statements:
All circles are a triangles.
Some triangles are rectangles.
All rectangles are squares.
76. Conclusions:
I. All rectangles being triangles
is a possibility.
II. All circles being square is a
possibility.
77. Conclusions :
. Some triangles are not rectan-
gles.
II. No square is a circle.
(78-79) :
Statements:
Some chairs are tables.
Some beds are tables.
No furniture is bed.
78. Conclusions :
I. All chairs being furniture is 5
possibility.
II. Some tables are not beds is g
possibility. gn = e
79. Conclusions :
1. Some tables are not furniture.
I1. All tables being furniture is g
possibility. -
80. Statements :

All arts' are theatrgé.
Some arts are dramas.

p{}ﬂ&ihHﬁY*
1. Some dramas are theatres,
pirections (& 1-88) : Study the
rollowing, information carefully an,
answer the questions given beloy .
Eight p@r&(}nﬂ = Tl i § ¥, W

¥ Y and Z are sitting In a straigh,
m}e equidistant from ﬂﬁ;:h othey
(but not necessarily in the sam,
order}. Some of them are fa{fing
south while some are facing north,

(Note : Facing the same direc.
tion means, if one is facing north
then the other also faces north and
vice-versa. Facing the opposite di-
rections means, if one is facing
north then the other faces south
and vice-versaj

S faces north. Onily two people
sit to the right of 5. T sits third o
the left of 8. Only one person siis
between T and X. X sits to the im-
mediate right of W. Only one per-
son sits between W and Z. Both the
immediate neighbours of T face the
same direction. U sits third {o the
left of X. T faces the opposite direc-
tion as 5. Y does not sit at any of
the extreme ends of the line. V faces
the same direction as W. Both Y and
U face the opposite direction of Z.

~ 81. How many persons in the given

arrangement are facing North?
(1) More than four

(2} Four
{3} One
{8) Two

Four of the following five are
‘alike in a certain way, and so
form a group. Which of the fol-
lowing does not belong to the
group?
(1) w, x
3) T, S
B) v,u
What is the position of X with
TCSpect to Z 7
(1) Second to the Jeft
(2] Third to the left
13) Third 1o the right
i 15) Second to the right
e Wh_ﬁ amongst the following
()T (2 Y
8} U

{4} Three

@zy
4 T, Y

33"



85. Who is eittmg eeeend te the |

right of T? .
(1) Z
3}-w -
(4) None of these
te Y
Directions [3%3) Study the
following information carefully and
answer the queetiene given below :

Point B is 25 m south of Point
A. Point C is 10 m east of Point B.
Point D is 30 m north of Point C.
Point E is 7 m east of Point D. Point
X is 18 m south of Point E. Point M
is 12 m south of Point X. Point C is
7 m west of Point M.

86. Point B is in which direction
~ from Point D? .
(1} South {2) South-West
' {3} North-East
(4} South-East
(B} North
87. If Point W is 3 m to the north

of Point A, then what is the
distance between Points B and

{2}:- . X

W?

(1} 28m (2] 15 m
(3) 21m (4] 24 m
() 17 m

88. What is dietanee between |

Points B and M?

(1} 19m (2) 15m
(3) 21 m (4) 17 m
(5] 13 m
Directions (89-01) : Study the

following information carefully and
answer the questions given below :

@ D is daughter of N. E is wife
of N.
® O is sister of D. C is married
to G.
@ N has no son. K is mother of
“E:
e Q is only daughter of C.
89. How @ is related to D?
(1) Daughter (2) Cousin
{3) Niece
(4) Sister-in-law
(5) Cmnet be determined
90. How N is related to K¢
{1) Brother- m-law |
(2) Cousin (3 Brother
(4) Sister (5) Son-in- law

91. How many daughters does N
have?

(1) Two .“.{2] Three

(3} One

(4) Cannot be determined

(5) None of these

Directions (82-84) : Study the
following information carefully and
answer the questions given below :
~ There are six wires in a cable
A, B, C, D, E and F and they have
different length but not necessarily
in the same order. E is greater than
C but less than D and B. A is great-
er than D and B. A is not the long-
est wire. Fis 13 cm. longand E is 4
- cm. long.
82. If D is 5cm less than F what

~ would be the length of D?

(1) 7 (2) 8

(3) 9

{4) Can't be determined

(5) None of these
83. Which wire has least length?
(1) B {2) A
(3) C 4) E
(5) Nomne of these
If Ais 10 cm. long and B car-

ries 5 cm. length then what
would be the length of C?

B4,

(1) 2 (2) 6
(3) 7 (4) 9
(5} 8

Directions (95-100) : Study
the following information carefully
to answer the questions given be-
low :

M, N, O, P, Q Rand S seven
people live on seven different floors
of a building but not necessarily in
the same order. The lower most floor
of the building is numbered 1, the
one above that is numbered 2 and
so on till the topmost floor is num-
bered 7. Each one of them have dif-
ferent income i.e. Rs. 3500, Rs.
15000, Rs, 7500, Rs. 9000, Rs.
11000, Rs. 13500 and Rs. 5000. (But
not necessarily in the same order.)

| M lives on an odd numbered floor

but not on the floor numbered 3.
The one who has income of Rs.
11000 lives immediately above M.
Only two people live between M and
the one who has income of Rs. 7500.
The one who has income of Rs.
15000 lives on one of the odd num-
bered floors above P. Only three
people live between O and the one
who has income of Rs. 15000. The

87.

one who has income of Rs. 7500
lives immediately above O. The one
who has income of Rs. 3300 lives
immediately above the one who has
income of Rs. 5000. S lives on an
odd numbered floor but not on the
topmost floor. Only one person lives
between N and Q. N lives on one of
the floors above Q. Neither G nor M
has income of Rs. 9000. Q does not
has income of Rs. 7500.

88. How much income M has”

(1) Rs, 13500 {2) Rs. 5000
(3) Rs. 7500 (4) Rs. 15000
(5} Rs. 3500

Which of the following combi-
nations is true with respect to
the given arrangement?

(1} Rs. 13500 - O

{2) Rs. 15000 - R

(3} Rs. 5000~ O

(4} Rs, 11000-P

(5} Rs. 9000 - N

If all the people are made (o
live in alphabetical order from
top to bottom, the positions of
how many people will remain

0.

unchanged?

{1} Four (2) Two
(3] None (4) One
(5} Three

88. Which of the following state-
ments is true with respect to
the given arrangement 7
(1) The one who has income of

Rs. 5000 lives immediately
below M.

(2} Rhas income of Rs, 15000.

(3) None of the given options
is true.

(4) Only four people live be-
tween P and S.

(5} S lives immediately below
Q.

. Who amongst the icllowing
lives on the floor numbered 27
(1} N
(2) The one who has income of

Rs. 3500
(3) The one who has income of
Rs. 5000
4) P
- (O @
100. How much income R has?
(1) Rs. 13500 (2) Rs. 5000
(3) Rs. 7500 (4] Rs. 15000
(5) Rs. 3500
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